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Modification of two-sides method for boundary-value problem of approaching integration of differ-
ential equations of hyperbolical type is built.
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�)������/ *���!� �#0����� 1������0�1 �����0� �� $�������������0� *�����
�
��2�����������
� ����)��) %3'�
� ����� ��#��� �*�
����((���) �������� ��*������� � %�� &' � ��4���) ����

+��$�� +�#����� ������������
� 0����� +���������/ *#������� ��#������
� ��.
��
������) ������������/ *���!��
5�$�� y = gi(x) (x = ki(y))� i = 1, 2 6 *����� 1������1 ������ +��!�0� g′1(x) <

0, x ∈ (x1, x0)� g1(xk) = yk, k = 0, 1� g′2(x) > 0, x ∈ (x0, x2)� g2(x0) = y0� g2(x2) = y1�
x1 < x0 < x2� y0 < y1 < y2� 7�*
�)��0� �#����� D = D1 ∪ D2 ∪ D3� �� D1 =
{(x, y) | x ∈ (x1, x0]� y ∈ (g1(x), y1]}� D2 = {(x, y) | x ∈ [x0, x2]� y ∈ (g2(x), y1]}�
D3 = {(x, y) | x ∈ (x1, x0]� y ∈ [y1, y2]}�
8�*��!�0�9 L2u(x, y) := uxy(x, y)+a1(x, y)ux(x, y)+a2(x, y)uy(x, y)� f [u(x, y)] :=

f(x, y, u(x, y), u(x, θ(x, y)))� θ(x, y) := y − τ(x, y)� �� τ(x, y) ≥ 0 6 *����� ��+�.
������ 2�����)� )�� ��*��!�4 +�!������ 0������ E = E1 ∪ E2� E1 = {(x, y) |
x ∈ [x1, x0]� y − τ(x, y) ≤ y ≤ g1(x)� (x, y) ∈ D1 ∪D3

}
� E2 = {(x, y) | x ∈ [x0, x2]�

y − τ(x, y) ≤ y ≤ g2(x)� (x, y) ∈ D2

}
�

��-������� .�/�012 � +������� 2������ C∗(D) := C(1.1)(D)∩C(0.1)(D) *��.
��� ��*�-)*�� ����)��)

L2u(x, y) = f [u(x, y)], ��"

)��� *��������)4 �0���

u(x, g1(x)) = ϕ1(x), uy(x, g1(x)) = ψ(x), x ∈ [x1, x0],

ψ(x) ∈ C[x1, x0], ϕ1(x) ∈ C ′[x1, x0],
�&"

u(x, g2(x)) = ϕ2(x), x ∈ [x0, x2], ϕ2(x) ∈ C ′[x0, x2], �3"

u(x1, y) = ϕ(y), y ∈ [y1, y2], ϕ(y) ∈ C ′[y1, y2], �	"

+��!�0� ������(���) �0��� �*
���������

ϕ1(x0) = ϕ2(x0), ϕ1(x1) = ϕ(y1), ϕ
′(y1) = ψ(x1), ��"

���$� &#��!$ 	.(�'�� ��0��4 5���4 &!*� 55 4 6 5
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u(x, y) |E = Φ(x, y), (x, y) ∈ E, ���

�� Φ(x, y) ∈ C ′(E) � ����	� 
�	�
��� ������	�

Φ(x, g1(x)) = ϕ1(x), Φy(x, g1(x)) = ψ(x), x ∈ [x1, x0],

Φ(x, g2(x)) = ϕ2(x), x ∈ [x0, x2].
���

��������� ������ ��� � ��� u(x, y) = us(x, y)� (x, y) ∈ Ds� s = 1, 2, 3� ��
u1(x, y)� ��������� ������ ���� ���� ���� ��� ��� (x, y) ∈ D1� u2(x, y) � ���������
������  ��!� ���� �"�� �#�� ��� ��� (x, y) ∈ D2 � u2(x0, y) = u1(x0, y)� y ∈ [y0, y1]�
� u3(x, y) � ��������� ������ $��%� ���� �&�� �#� ��� (x, y) ∈ D3 � u3(x, y1) =
u1(x, y1)� x ∈ [x1, x0]�
'��(�)*�� +� a1(x, y) ∈ C(1.0)(D)� a2(x, y) ∈ C(0.1)(D)� � f [u(x, y)] ∈ C(B)�

f : B → R� B ⊂ R
4�

,���(�� ������-�� +� ��+�

a1x(x, y) = a2y(x, y), (x, y) ∈ D, �.�

-� ������ ��� � ��� *�(	� ����-� � ������/�	-	�0 �	-�1��/2	�0 
��*�

u1(x, y) =

{
Φ(x, y), (x, y) ∈ E1,
ω1,1(x, y) + T1F [u1(ξ, η)], (x, y) ∈ D1,

ω1,i(x, y) := ϕi(x) exp
(∫ gi(x)

y
a1(x, η)dη

)
+

+
∫ y

gi(x)
K(x, y; k1(η), η)[ψ(k1(η)) + a1(k1(η), η)ϕ1(k1(η))]dη, i = 1, 2,

K(x, y; ξ, η) := exp
(∫ ξ

x
a2(τ, η)dτ +

∫ τ

y
a1(x, τ)dτ

)
,

F [us(x, y)] := f [us(x, y)] + (a2y(x, y) + a1(x, y)a2(x, y))us(x, y), s = 1, 2, 3,

T1F [u1(ξ, η)] :=
∫ y

g1(x)

∫ x

k1(η)
K(x, y; ξ, η)F [u1(ξ, η)]dξdη, (x, y) ∈ D1,

�3�

u2(x, y) =

⎧⎨
⎩

Φ(x, y), (x, y) ∈ E2;

ω2,2(x, y) + T2F [u2(ξ, η)], (x, y) ∈ D2,

ω2,2(x, y) := ω1,2(x, y) + T1,1F [u1(ξ, η)],

T1,1F [u1(ξ, η)] :=
∫ y

g2(x)

∫ x0

k1(η)
K(x, y; ξ, η)F [u1(ξ, η)]dξdη,

T2F [u2(ξ, η)] :=
∫ y

g2(x)

∫ x

x0
K(x, y; ξ, η)F [u2(ξ, η)]dξdη, (x, y) ∈ D2,

��4�
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u3(x, y) =

⎧⎨
⎩

Φ(x, y), (x, y) ∈ E1;

ω3,3(x, y) + T3F [u3(ξ, η)], (x, y) ∈ D3,

ω3,3(x, y) :=
∫ y

y1
K(x, y; x1, η)[ϕ

′(η) + a1(x1, η)ϕ(η)]dη+

+ω1,1(x, y1) exp
(∫ y1

y
a1(x, η)dη

)
+ T1,2F [u1(ξ, η)]dξdη,

T1,2F [u1(ξ, η)] :=
∫ y1
g1(x)

∫ x

k1(η)
K(x, y; ξ, η)F [u1(ξ, η)]dξdη,

T3F [u3(ξ, η)] :=
∫ y

y1

∫ x

x1
K(x, y; ξ, η)F [u3(ξ, η)]dξdη, (x, y) ∈ D3.

����

�����	 
	��
�	��� �
�
�� u1(x0, y) = u2(x0, y) � u1(x, y1) = u3(x, y1) 
�� (x, y) ∈
D� 
 	��� u1y(x0, y) = u2y(x0, y)� u1x(x, y1) = u3x(x, y1)� (x, y) ∈ D�

�	������� (x, y1 − τ(x, y1)) ∈ D1 ∪ E1� �	��	 u3(x, y1 − τ(x, y1)) = u1(x, y1 −
τ(x, y1))� �	 �� ��� � ���� ����	 
����	�
���� � �
�
������	��� � 	��
��� D ����
�	��� 

u3y(x, y1)− u1y(x, y1) = 0, x ∈ [x1, x0],

u2x(x0, y)− u1x(x0, y) = [ϕ′2(x0)− ϕ′1(x0)+

+(g′1(x0)− g′2(x0))ψ(x0)] exp(
∫ y0
y
a1(x0, η)dη), y ∈ [y0, y1].

��!�
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�
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���� �� ����� f [u(x, y)] ∈ C(B)� a1(x, y) ∈ C(1.0)(D)� a2(x, y) ∈ C(0.1)(D) �
�	
��
����� 
���� ���� �

ϕ′2(x0)− ϕ′1(x0) + (g′1(x0)− g′2(x0))ψ(x0) = 0. ��$�

����� �
�� ������ ��� � ��� ��� ���� ���
� �� ��� ��!�"��	�� #���������
C∗(D) �$
�� ��%
!���	��& ' �
#���	����
 �	#��

 ��� ���(� �������� ��)� �
u(x, y) ∈ C(1.1)(D\I) ∩ C(0.1)(D)� I = {(x, y) | x = x0, y ∈ [y0, y1]} ����� ���
 $
��
����%
!���	��&

��	�
�		� �� *
���� %����	�	� �� F [u(x, y)] ∈ C1(B)� �
�� +
�
(��
F [u(x, y)] ������!���� ����
#�� 
���	 ,-./

�� F [u(x, y)] ∈ C(B)�

)� � #������� +
�
(�� C(B1)� B1 ⊂ R
6� ΠpxOyB1 = D� ���
� ��
� +
�
(��

H(x, y, u(x, y), u(x, θ(x, y)); v(x, y), v(x, θ(x, y)) := H[u(x, y)� v(x, y)]� ��

�� H[u(x, y); u(x, y)] ≡ F [u(x, y)]�

$� �!� ����!���0 � #������
 C(D) #��	 +
�
(�� u(x, y)� v(x, y) ∈ B1� �
�
������!���1�� 
���
 u(x, y) ≥ v(x, y)� (x, y) ∈ D� � �$!���� B1 �	
��
�2
���� ����������

H[u(x, y); v(x, y)] ≥ H[v(x, y);u(x, y)], (x, y) ∈ D, ��%�

����� ������ 	� !"!# ��$%�& '���& ��(� '' & ) '
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�� ������� H[u(x, y); v(x, y)] 	 
��
��� B1 �
�
	
����� ��
	� ������
� �
��

�
� ��� 	����� � ��
��
�� C(D) ������� ui(x, y)� vi(x, y) ∈ B1� i = 1, 2�
	��
������� ��
	


|H[u1(x, y); v1(x, y)]−H[u2(x, y); v2(x, y)]| ≤ L(|u1(x, y)− u2(x, y)|+

+ |u1(x, θ(x, y))− u2(x, θ(x, y))|+ |v1(x, y)− v2(x, y)|+

+ |v1(x, θ(x, y))− v2(x, θ(x, y))|)
�� L � ��
�
 ������
 

�������	
 ��
	 ������� F [u(x, y)] ∈ C(B) � ��� 	������� �������� �	�����
����	�	 �	����� �	 ���� ��	�� ����������
 �	��	���� �� � ����!	�	
 � 	�"����
B
 �	 �	�� ������ ��"����! ��	��	�	�� C1(B)#

$����	���	 �	������ ��	�� ��������� �� ����	��� ����"���	�	 %������"��&
�	�	� �	��'���� ������ %(� ) %*� � 	�"���� D#

+���, Zp,s(x, y), Vp,s(x, y) ∈ C(D) ��"����! 	�"���� B1
 s = 1, 2, 3
 p ∈ N#
$�����	 �	��������-

Wp,s(x, y) := Zp,s(x, y)− Vp,s(x, y),

f p
s (x, y) := H[Zp,s(x, y);Vp,s(x, y)], fp,s(x, y) := H[Vp,s(x, y);Zp,s(x, y)],

α∗p,s(x, y) := Zp,s(x, y)− ωp
s,s(x, y)− Tsf

p
s (ξ, η),

β∗p,s(x, y) := Vp,s(x, y)− ωs,s,p(x, y)− Tsfp,s(ξ, η),

s = 1, 2, 3, p = 0, 1, 2, ..., (x, y) ∈ Ds,

%(.�

ωp
1,1(x, y) = ω1,1,p(x, y) = ω1,1(x, y), ∀p = 0, 1, 2, ..., (x, y) ∈ D1,

ωp
2,2(x, y) := ω1,2(x, y) + T1,1f

p
1 (ξ, η),

ω2,2,p(x, y) := ω1,2(x, y) + T1,1fp,1(ξ, η), (x, y) ∈ D2,

ωp
3,3(x, y) := ω1,1(x, y1) exp

(∫ y1
y
a1(x, η)dη

)
+

+
∫ y

y1
K(x, y; x1, η)[ϕ

′(η) + a1(x1, η)ϕ(η)]dη + T1,2f
p
1 (ξ, η),

ω3,3,p(x, y) := ω1,1(x, y1) exp
(∫ y1

y
a1(x, η)dη

)
+

+
∫ y

y1
K(x, y; x1, η)[ϕ

′(η) + a1(x1, y)ϕ(η)]dη + T1,2fp,1(ξ, η), (x, y) ∈ D3,

Zp,s(x, y) := Zp,s(x, y)− dp,s(x, y)Wp,s(x, y),

V p,s(x, y) := Vp,s(x, y) + qp,s(x, y)Wp,s(x, y), (x, y) ∈ Ds,

F p
s (x, y) := H[Zp,s(x, y);V p,s(x, y)], Fp,s(x, y) := H[V p,s(x, y);Zp,s(x, y)]
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dp,s(x, y)� qp,s(x, y) ∈ C(Ds) � ������	� 
�	�
��� ��� ��������	���� �����

0 ≤ dp,s(x, y) ≤ 0, 5; 0 ≤ qp,s(x, y) ≤ 0, 5,

(x, y) ∈ Ds, ��� ����p ∈ N, s = 1, 2, 3.
����

��������� ��������	���� 
�	�
� {Zp,s(x, y)} �� {Vp,s(x, y)} �!��	� 
�"��� #$%

Zp+1,s(x, y) =

{
Φ(x, y), (x, y) ∈ Es,
Ωp

s,s(x, y) + TsF
p
s (ξ, η), (x, y) ∈ Ds, s = 1, 2, 3,

Vp+1,s(x, y) =

{
Φ(x, y), (x, y) ∈ Es, E3 ≡ E1,
Ωs,s,p(x, y) + TsFp,s(ξ, η), (x, y) ∈ Ds, s = 1, 2, 3,

��&�

Ωp
s,s(x, y) = ωp

s,s(x, y) |fp
s (x,y)=F p

s (x,y)
,

Ωs,s,p(x, y) = ωs,s,p(x, y) |fp,s(x,y)=Fp,s(x,y)
,

�' �� 	�����' 	����('		� Z0,s(x, y), V0,s(x, y) ∈ B1 ����"���� ������	� 
�	�
��
� �"����"� C(Ds)� ��� ��������	���� �����

W0,s(x, y) ≥ 0, α∗0,s(x, y) ≥ 0, β∗0,s(x, y) ≤ 0, (x, y) ∈ Ds,

Z0,s(x, y) |Es
= V0,s(x, y) |Es

= Φ(x, y), s = 1, 2, 3.
��)�

*����� 
�	�
�� Z0,s(x, y) �� V0,s(x, y)� ��� ��������	���� ����� ��)� � 	��'+
(��� B1� ���'�� 	��������'�� 
�	�
���� ��"��	�		� ����,� ��� � �&�-

.� ��$� �� ��&� �"� (x, y) ∈ Ds� s = 1, 2, 3 �������� ��"��'�������� 
�"���/

Zp,s(x, y)− Zp+1,s(x, y) = αp,s(x, y) := Zp,s(x, y)− Ωp
s,s(x, y)− TsF

p
s (ξ, η),

Vp,s(x, y)− Vp+1,s(x, y) = βp,s(x, y) := Vp,s(x, y)− Ωs,s,p(x, y)− TsFp,s(ξ, η),
��0�

Wp+1,s(x, y) = Ωp
s,s(x, y)− Ωs,s,p(x, y) + Ts(F

p
s (ξ, η)− Fp,s(ξ, η)), �12�

αp+1,s(x, y) = Ωp
s,s(x, y)− Ωp+1

s,s (x, y) + Ts(F
p
s (ξ, η)− F p+1

s (ξ, η)),

βp+1,s(x, y) = Ωs,s,p(x, y)− Ωs,s,p+1(x, y) + Ts(Fp,s(ξ, η)− Fp+1,s(ξ, η)).
�1��

3 ���� ����� ��)� �����

V0,s(x, y) ≤ V 0,s(x, y) ≤ Z0,s(x, y) ≤ Z0,s(x, y), (x, y) ∈ Ds, s = 1, 2, 3,

� ��('� 	� �������� ��4� F 0
s (x, y) − F0,s(x, y) ≥ 0 ��� ���� (x, y) ∈ Ds� s = 1, 2, 3�

��5� ������ Z0,s(x, y)� V0,s(x, y) ∈ B1- 3��������� ��5� α
∗
0,s(x, y) ≥ 0� β∗0,s(x, y) ≤

0� �� � α0,s(x, y) ≥ 0� β0,s(x, y) ≤ 0 �"� (x, y) ∈ Ds� s = 1, 2, 3- 6�' ���� �� ��0��
�12� �"� p = 0 ��'"(���� Z0,s(x, y) − Z1,s(x, y) ≥ 0� V0,s(x, y) − V1,s(x, y) ≤ 0�
W1,s(x, y) ≥ 0� �����

V0,s(x, y) ≤ V1,s(x, y) ≤ Z1,s(x, y) ≤ Z0,s(x, y), (x, y) ∈ Ds, s = 1, 2, 3,

����� ������ 	� !"!# ��$%�& '���& ��(� '' & ) '



��� �������	
��
� �� �� �	�
����

� ����� Z1,s(x, y)� V1,s(x, y) ∈ B1�
�	
	���
� ������� d0,s(x, y)� q0,s(x, y)� ��� ������������� �
��	 ����� ���	


 	��
� !�
 "�	 (x, y) ∈ Ds �	�������	#� �
��	 $�%

Z0,s(x, y)− Z1,s(x, y)− d0,s(x, y)W0,s(x, y) ≥ 0,

V0,s(x, y)− V1,s(x, y) + q0,s(x, y)W0,s(x, y) ≤ 0.

&��� � #	�� ��'� F 0
s (x, y)− F 1

s (x, y) ≥ 0� F0,s(x, y)− F1,s(x, y) ≤ 0� (x, y) ∈ Ds�
(�� � ����
� ���� �� �)�� "�	 p = 0 
��
� α1,s(x, y) ≥ 0� β1,s(x, y) ≤ 0�

(x, y) ∈ Ds� s = 1, 2, 3�
*�	+
�� 	 ������� Z1,s(x, y)� V1,s(x, y) �� �	,���� � "������� 	 �	!� ����-

���� 
���������� 
�����
 
���
��	 ��� �������� "��������
�#�� !� ��!� ���-
���� dp,s(x, y)� qp,s(x, y)� (x, y) ∈ Ds� s = 1, 2, 3� p ∈ N �� �����
� ����� ��������
��.� �	
	���	 ���	
  	��
� !�
 �	�������	#� �
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Zp,s(x, y)− Zp+1,s(x, y)− dp,s(x, y)Wp,s(x, y) ≥ 0,

Vp,s(x, y)− Vp+1,s(x, y) + qp,s(x, y)Wp,s(x, y) ≤ 0,

(x, y) ∈ Ds, s = 1, 2, 3, p ∈ N,

�))�

�� � �
��#�� B1 
���� 
�#�� �������#��

Vp,s(x, y) ≤ Vp+1,s(x, y) ≤ Zp+1,s(x, y) ≤ Zp,s(x, y),

αp,s(x, y) ≥ 0, βp,s(x, y) ≤ 0, (x, y) ∈ Ds, s = 1, 2, 3, ��� �#�, p ∈ N

�)/�

0�����	
�� !� ��� �#�, p ∈ N αp,s(x, y) ≥ α∗p,s(x, y) ≥ 0� βp,s(x, y) ≤ β∗p,s(x, y) ≤
0� (x, y) ∈ Ds�

���� �� ���� F [u(x, y)] ∈ C1(B) � � ���	
�� B1 �
�
��� �
����� ���������
�� Z0,s(x, y) �	 V0,s(x, y) ∈ C(Ds)� s = 1, 2, 3� ���� ������	 �
����� dp,s(x, y)�
qp,s(x, y)� (x, y) ∈ Ds� ��� �	����������� �������
�� � !"� �##"� �� �������$

1�+#��� "������
� �� �����
� ����� �������� ��.�

dp,s(x, y) =

{
α∗p,s(x, y)ρ

−1
p,s(x, y), Wp,s(x, y) �= 0,

0,Wp,s(x, y) = 0, (x, y) ∈ Ds, s = 1, 2, 3,

qp,s(x, y) =

{ −β∗p,s(x, y)ρ−1p,s(x, y), Wp,s(x, y) �= 0,

0,Wp,s(x, y) = 0, (x, y) ∈ Ds, s = 1, 2, 3,

ρp,s(x, y) = α∗p,s(x, y)− β∗p,s(x, y) +Wp,s(x, y), p ∈ N.

2 ��	���� ���	
  	��
 �	
���� ������� dp,s(x, y)� qp,s(x, y) ������������� �
�-
�	 ����� � � #	�� ��3�

Zp,s(x, y)− Zp+1,s(x, y)− dp,s(x, y)Wp,s(x, y) ≥ αp,s(x, y)(1−Wp,s(x, y)ρ
−1
p,s(x, y)) ≥ 0,

Vp,s(x, y)− Vp+1,s(x, y) + qp,s(x, y)Wp,s(x, y) ≤ βp,s(x, y)(1−Wp,s(x, y)ρ
−1
p,s(x, y)) ≤ 0,

��� �#�, (x, y) ∈ Ds, s = 1, 2, 3, p ∈ N.
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������� �� ����� F [u(x, y)] ∈ C1(B)� ���	
�
�
�� ai(x, y) ��������
����
����� ���� � � ������
 B1 
�
���� 	�
��
� �� 
�
�

� ����!
 �"� # �$� Z0,s(x, y)�
V0,s(x, y) ∈ C(Ds)� s = 1, 2, 3%

&��
 ��� ����
���
����� 	�
��
� {Zp,s(x, y)} �� {Vp,s(x, y)}� ��
 ��������
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�
� ����
� �"$�� �� dp,s(x, y)� qp,s(x, y) ∈ Ds� s = 1, 2, 3� ��������
���� �����
�"(�� �))�� � ������
 B1 �� �������
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��������� 	� 
���
����� ����� ����� 
����
������� ������� {Zp,s(x, y)} ��
{Vp,s(x, y)} ���������� ���������� � ������� Ds� s = 1, 2, 3� 
� �
����� ���� ����
��

���
���� ������������� �������� !"# $ !%%#& ' ���� ��������� � ������� B1

����������� !()#� 
�� ����� 
�������� 
�������� 	� lim
p→∞

Wp,s(x, y) = 0� (x, y) ∈
Ds� s = 1, 2, 3&

*�+��

max
s

{
sup
Ds

W0,s(x, y), sup
Ds

W0,s(x, θ(x, y))

}
≤ d, Q = sup

D

(1, y − y0 + x− x1),

max
p,s

sup
Ds

(1− dp,s(x, y)− qp,s(x, y)) ≤ q, sup
D×D

K(x, y; ξ, η) ≤ 0, 25K.
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���

max
s

sup
Ds

Wp,s(x, y) ≤
[LKQq(y − y0 + x− x1)]

p

p!
d, !(0#

� �����

lim
p→∞

Zp,s(x, y) = lim
p→∞

Vp,s(x, y) = us(x, y), (x, y) ∈ Ds, s = 1, 2, 3.

�����1��1� � �������+ !%2# 
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�� (x, y) ∈ Ds� s = 1, 2, 3&

������� 	� ����� F [u(x, y)] ∈ C1(B)� ���	
�
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�� ai(x, y)� i = 1, 2 ����+
����
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 � ������
 B1 
�
���� 	�
��
� �� 
�
�

� ����!
 �"� #
�$� Z0,s(x, y)� V0,s(x, y) ∈ C(Ds)� s = 1, 2, 3%
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� {Zp,s(x, y)} �� {Vp,s(x, y)}� ��������
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�
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��
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Vp,s(x, y) ≤ Vp+1,s(x, y) ≤ us(x, y) ≤ Zp+1,s(x, y) ≤ Zp,s(x, y),

(x, y) ∈ Ds, s = 1, 2, 3,
!(3#

��� ��
� p ∈ N� �� us(x, y) # ���
��  ���-���� �
����
�
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� �.� # �""� � � (x, y) ∈ Ds�

'� ��
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��'� ������ 3
�� � ����� dp,s(x, y) = qp,s(x, y) ≡ 0�%
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���������� �������� 	
��
���� �����	������ 	������ ��� � ���� �	� (x, y) ∈
Ds� s = 1, 2, 3� �
�
������ ���
�
� ��� ���	
����
�
�

�
�����
 ��	����������� ��	���
��� �!"�� # $�%& ���
& �	�������
� '
 �
����� �
($� (x, y) ∈ Ds ��� ����
�
 �
��	� p� ���	������ us(x, y) > Zp,s(x, y)�

)
�� � ���� �!*� ��� ���� n ∈ N � 	
���������� �
($� (x, y) ∈ Ds

us(x, y) > Zp,s(x, y) ≥ Zp+1,s(x, y),

� 
�+�� � ���� �
($� �
����
������ ,���$� {Zp+n,s(x, y)} �	� n→∞ �� �-���%.
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������
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��� �!"��

1��� Zp,s(x, y)� Vp,s(x, y) ∈ B1 � ��
��
	
��� ��-��+���� �
 	
��
����� ���.
�
������ �����	������ 	������ ��� � ���� �	� (x, y) ∈ Ds� s = 1, 2, 3� �
-��
����
�� ������ ���
�
� � �
�� ���
�
����&�� ��
�� Wp,s(x, y) ≥ 0� α∗p,s(x, y) ≥ 0�
β∗p,s(x, y) ≤ 0�

2
���(��
 (�	�� Z∗p+1,s(x, y)� V
∗
p+1,s(x, y) �������� ��-��+����� �
-��
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�� �	� (x, y) ∈ Ds� � ���� ��3�� ��4��
��%�


Z∗p+1,s(x, y)− Zp+1,s(x, y) = ωp
s,s(x, y)− Ωp

s,s(x, y) + Ts(f
p
s (ξ, η)− F p

s (ξ, η)) ≥ 0,

V ∗p+1,s(x, y)− Vp+1,s(x, y) = ωs,s,p(x, y)− Ωs,s,p(x, y) + Ts(fp,s(ξ, η)− Fp,s(ξ, η)) ≤ 0,
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�������� 	
 ����� ����	
	��
� �	������ ��� a1(x, y) ∈ C(1.0)(D)� a2(x, y) ∈
C(0.1)(D) �����������
� ����� ��� 	 �������
��� ������ 
������  !

"��	 ����#���� �������$ ����%	 ��� & �'� � �(���
	 D 	���� 	 �	� ������� )��*
%��� )�� ��������	 ����� ��+� �	� (��� ����������� � ��)��
������ ��)����
& 	�����������!

�������� �
 ����� ϕi(x) = ϕ(y) = ψ(x) = 0� i = 1, 2� F [u(x, y)] ∈ C1(B)�
)��%��� F [u(x, y)] ≡ H[u(x, y); 0]�

����� ��	� F [0] ≤ (≥)0 
 ���
��� B� �� ���
����� �
�
�� ��� � ��� ���
(x, y) ∈ Ds �
��
������ ����
����� u(x, y) ≤ (≥)0�

��������	� 
���� 
� �
������	 ��� �
������ �������

L2Z(x, y) = f1(x, y, Z(x, y), Z(x, θ(x, y)) := f1[Z(x, y)],

f1 : B → R, B ∈ R
4.
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�� ������	 f1[Z(x, y)] ∈ C(B) � 
 ��
���� B ��� �������� �������� �������
������� ���	��� �� Z(x, y) � Z(x, θ(x, y))� 	�� ����
�
��	 �� ���
�

∂f [Z(x, y)]

∂Z(x, y)
+ a2y(x, y) + a1(x, y)a2(x, y) ≥ 0,

∂f [Z(x, y)]

∂Z(x, θ(x, y))
≥ 0, !�"�

#� �
	 
�	��$ � �������� C∗(D) ������$ V (x, y) ∈ B
f1[V (x, y)] ≥ (≤)f [V (x, y)] !�%�

������� �� ����� ����	
	��
� ai(x, y)� i = 1, 2 �����������
� ����� ����
� ����	 ���
��� �	����� � �� �!"� f [u(x, y)] 
� f1[Z(x, y)] �����������
� ��#�
�������	 �����  �$%� 	 � �&���
	 B1 	����
� ����
	' ���	������ ����� � � (
�)�� �!"�� �!� ( �)�*

+��	 ��� ����,���	� 
�� ����� ��� (x, y) ∈ D �������
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u(x, y) ≥ (≤)Z(x, y) !�&�

���������� '����� ������� � � ���
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)	��� ����� !(� * !"�� !�+�� !��
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W (x, y) := Z(x, y) − u(x, y) � 
��������
�� ������� ,������� ��� ��������
��������� ��������

Wxy(x, y) + a1(x, y)Wx(x, y) + a2(x, y)Wy(x, y) =

= b1(x, y)W (x, y) + b2(x, y)W (x, θ(x, y)) + f1[u(x, y)]− f [u(x, y)],

�� bi(x, y)� i = 1, 2 * �������� ������� ������� ���	��� 
�� ������$ f1[Z(x, y)]

����
���� �� Z(x, y) �� Z(x, θ(x, y)) ��� ��	��� $� �����
���� �������	�� -�
��
����� B� (x, y) ∈ D.

/��
����� ������	 W (x, y) ����
�
��	� ��������� ���
� !�� * !+�� �

F [W (x, y)] ≡ [b1(x, y) + a2y(x, y) + a1(x, y)a2(x, y)W (x, y)+

+b2(x, y)W (x, θ(x, y)) + f1[u(x, y)]− f [u(x, y)],

����� 
 ��
� !�"�� !�%� F [0] ≥ (≤)0. 0� ������
� ���
���� � W (x, y) ≥ (≤)0 ���
(x, y) ∈ D� ����� ����
��
�
� ����
����� !�&�.
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